EARAROBEEIERT — 2 N— IBISH —F

2017568138 (K) 3EIIIIE2H

Elezz c1 v55—#

‘ (%] ‘ (sesm]  — | & (&) oo &

[AE<%] 1 7% :1,300,000 § 2 7&:442,000 § 3 7 :260,000 4

4 7% :182,000 F 5 3&: 156,000 [

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
S o= s HTHE % . -3~ . — 142K (FE)
1178 A= RIZZANZ2H "5 56.0I_ﬁ ‘?6_? ¥33 |80 6 f;) HET "
R:ZE&F2—FTIUNT4 BiLF—Y—ZT72 Sk
o EHEC . ~3- . — saARZEL (1)
2 3| RIZVUAH i 5 50 5‘379) 538 |80 4 ?_527) INB—R
Z:x4m B:xAYE b Yriva LB
N N R} -0 — SAE— (&)
3l5l5| 7Ly vaxon o4 | BE A I T |
LHYIRTTZZ B:ov N1 Xvlb HE E—
. 1L Iy R =+ -8 = igEse (J1e)
4 6| T7—x-7 H o7 o (516/.24) 8-8-8 | 37.7 5 (5_119) %Eé:‘:
L:ARTA MY B:aA-TETIR gt (ot
N BEHE . -6- . - 1eiEtEie (1)
5 Al Ve ATV aq i 4 oS (\:)(3‘;_1) 6-6-5 | 38.4 2 (5_125) e
L:vA7x B:YvlL—KE- Fy P EF T — L
= 5 i 6 | HEEX 56.4 3-3-5 [38.4| — 3 440 | REREE (111&)
6177 Z27Fz)— 54.0 () +2) AL—EB
LBALINT Ry IR B:IH—AN—FE=— BEXZY K
¢ o4 | EIFEFL 56.5 1-1-1 38.7| — 1 446 | FEHIE— (1)
] 0| 7O-X 56.0 (1/2) (o) | KEELE
RHYRG4TTR BT AL =Y HiE
& O o 7 | =EEH 57.4 7-7-7 |39.2| — 8 481 | EH—RI (A7)
811 L—G KIS X - 56.0 (4) (-6) iEfth
LT RIAYL—> B:ad¥ RYya H—NFIS— XLV K
: B4 | BEEE 58.0 9-8-9 |39.4| — 10 | 498 |EBE/IR GEF)
98|10 V=X rRao—Jv A51.0 3) (-) | FFETE—ER
L:N—E>Tv— B:orlvrl—X (B) HBEa-KL—-—ra>aEI77
o 1HEFHE . -10- . = FIHIER (fnfE)
w0lglgl*1¥avevTy i 5 g 5(82)4 10-10-10 | 39.1 9 (4_818) F‘%EUWE
L:TLeFFE2T+ BRT EHEAS
® 1—F—@EBIERL
13—7-—
20—F— (2,5),(7.,8),3,4,1,6,10,9
== 2,5,(3,7,8),4,1,(6,10),9
43—+ — 2,5,(3,8),(4,7),1,6,10,9
[ N5
B 8 1,590 714K 3-8 1,500 e E 3-7 2,300 JEE 3-5-8 22,1704
B B 8 390 5-8 2,780H e B =) 3,840M JEE 8-3-5 166,620
3 340M 3-5 1,620 B & 3-8 5,920M
5 460/ B HE 8-3 12,760

ABICOVWTRDTEEERROODE. TR LIV,




